Algebra 2







Name: _________________________
Unit 11, Day 9







Date: ______________ Period: _____
Pascal’s Triangle & Probabilities of Tossing Coins
Use your calculator to compute the values for each combination.  Write the answer in the box, and look for patterns.  Complete the last 2 rows using any patterns you have noticed.  Write the sum for each row in the column on the right.
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Sum of the nth row: ______
This triangle is called ___________________ Triangle.
List some patterns:

If you toss a coin _____ time, there are _____ possibilities for the number of heads, _____ or _____, both __________________ likely.   




    P (________) = 

 
  P (________) = 


If you toss a coin _____ times, write out the sample space.    S = {____________________________}

There are _____ possibilities for the number of heads, but __________ all __________________ likely.   

	              P (______) =
	  P (______) =
	P (______) =



If you toss a coin _____ times, write out the sample space.    S = {____________________________}

There are _____ possibilities for the number of heads, but __________ all __________________ likely.   

	P (______) =
	P (______) =
	P (______) =
	P (______) =



If you toss a coin _____ times, there are _____ = _____ different outcomes in the sample space.


S =      
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(There are _____ possibilities for the number of heads, ranging from _____ to _____ heads.     

P (______) =

P (______) =

P (______) =

P (______) =
        P (______) =
If you toss a coin _____ times, there is _____ possibility for the number of heads, only _____ heads.




                              P (________) = 


( Let’s put it all together:

	
	0


	1
	2
	3
	4

	0
	
	
	
	
	

	1
	
	
	
	
	

	2
	
	
	
	
	

	3
	
	
	
	
	

	4
	
	
	
	
	


Based on the patterns we discussed, answer the following:
If you toss a coin 5 times, how many different outcomes are there in the sample space? _____ = _____
Compute the probabilities if a coin is tossed five times:

	P (0H) = 
	P (1H) =
	P (2H) =
	P (3H) =
	P (4H) =
	P (5H) =


Practice:  Answer the following:

	1) P (4 H in 6 tosses) = 


	2) P (5 H in 8 tosses) = 


	3) P (at least 5 H in 7 tosses) = 



	4) P (at most 3 H in 6 tosses) = 


	5) P (odd # of H in 8 tosses) = 


	6) Without using the triangle, 

      P (7 H in 15 tosses)  = 






Pattern:  P (r H in n tosses) = 

Try these on your own:

	7) P (3 H in 10 tosses) = 


	8) P (4 H in 16 tosses) = 


	9) P (at least 4 H in 6 tosses) = 



	10)  P (6 H in 11 tosses) = 


	11)  P (8 H in 12 tosses) = 


	12)  P (at most 2 H in 9 tosses) = 




Mixed Practice:
	1)  Solve for x.  Represent the solution on a number line.

	a)  
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	c)  
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	2)  Write the standard (expanded) form equation of a polynomial 
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Px

 given the following zeros.

	a)  cubic, x = 4i, 3


	b)  quartic, x = 
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i

, –2i 

	3)  Write the equation in standard form, then graph the equation.  Identify the center and foci.  

(Hint:  
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Center: 

Foci:


	4)  Given 
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, graph the line of symmetry and the inverse of 
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.

Is the inverse of 
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 a function?  Explain how you know.
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